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* Correct Answer is in Bold and slightly bigger
* Candidate selected option is Underlined

English Language

Q2792641 Identify the meaning of the highlighted idiom- Get out of hand

Score Obtained : 0.0

A) Ask for control
B) Keep in control
C) Refuse control

D) outof control

2792657 Fill in the blanks with the most appropriate words.

The need of the is that egos be kept aside and help be provided to the needy.

Score Obtained : 0.0

A) hour, our
B) our, our

C) hour, hour
D) our, hour

Q2791123 Read the following passage and answer the questions that follow:

Quicksand is a colloid hydrogel consisting of fine granular material (such as sand, silt or clay), and water. Quicksand forms in saturated loose sand when the sand is
suddenly agitated. When water in the sand cannot escape, it creates a liquefied soil that loses strength and cannot support weight. Quicksand can form in standing
water or in upwards flowing water (as from an artesian spring). In the case of upwards flowing water, forces oppose the force of gravity and suspend the soil
particles. The saturated sediment may appear quite solid until a sudden change in pressure or shock initiates liguefaction. This causes the sand to form a
suspension and lose strength. The cushioning of water gives quicksand, and other liquefied sediments, a spongy, fluid-like texture. Objects in liquefied sand sink
to the level at which the weight of the object is equal to the weight of the displaced soil/water mix and the submerged object floats due to its buoyancy.
Liquefaction is a special case of quicksand. In this case, sudden earthquake forces immediately increase the pore pressure of shallow groundwater. The saturated
liquefied soil loses strength, causing buildings or other objects on that surface to sink. A human is unlikely to sink entirely into quicksand and drown at all due to
the higher density of the fluid (assuming the quicksand is on dry ground and not under water, but even if underwater, sinking is still improbable). Quicksand has a
density of about 2 grams per millilitre, whereas the density of the human body is only about 1 gram per millilitre. At that level of density, sinking in quicksand is
impossible. Descending about up to the waist is possible, but not any further. Even objects with a higher density than quicksand will float on it—until they move.
Aluminium, for example, has a density of about 2.7 grams per millilitre, but a piece of aluminum will float on top of quicksand until motion causes the sand to
liquefy. Continued or panicked movement, however, may cause a person to sink further in the quicksand. Since it increasingly impairs movement, it can lead to a
situation where other factors such as weather exposure, dehydration, hypothermia, tides or carnivores may harm a trapped person.

Q2791125 The factors that could harm a person in quick sand other than sinking is

Score Obtained : 1.0

A) shallow groundwater
B) roots of nearby plant

C) dehydration

D) density of the person

(2791124 Choose among the following one material that is composed in Quicksand.

Score Obtained : 1.0

A) Gel

B) sit
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C) Hydrogen
D) Aluminium

Q2791126 It is impossible for a human to sink in quick sand because

Score Obtained : 1.0

A) human body is denser than quicksand

B! quicksand is denser than human body
C) the human density is equal to the density of quicksand
D) quicksand is made up of hydrogel

Q2791128 The factor that causes liquefaction is

Score Obtained : 1.0

A ) sudden shock

B) denser objects
C) colloid hydrogel
D) force of gravity

02791127 In case of liquefaction, during earthquake

Score Obtained : 1.0

A) the liquefied soil reaches saturation
B) the saturated liquefied soil becomes strong
C) the groundwater liquefies the sand

D ) the pore pressure of the shallow groundwater increases

Q2792677 The pair of words given in capitalized letters is related in some way. From the options, choose the pair that exhibits the most similar relationship to the given pair.

ORNITHOLOGIST : BIRDS

Score Obtained : 0.0

A) seismologist : fruit
B) archaeologist : monuments
C) entomologist : insects

D) psychologist : anger

2792603 Choose the correct spelling from among the given options.

Score Obtained : 0.0

A) ebbulient
B) ebullent
C) ebullant

D) ebullient

(2793259 In the words superfluous, fluency and confluence, what does "flu" refer to?

Score Obtained : 0.0

A) increase
B) fit

C) fight
D) flow

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Q2791152 Who was the Chairman of the committee on emotional integration organised by the Central Education Ministry of India in 19617
Score Obtained : 1.0

A) Dr. Sivanand

BI Dr. Sampurnanand
C) Dr. Sachidanand
D) Dr. Satyanand

Q2791171 Which of the following is NOT a mandate of University Grants Commission in India?

Score Obtained : 1.0

A) Advising the Central and State governments on the measures necessary for improvement of university education

B) Serving as a vital link between the Union and state governments for primary and secondary board of education
C) Monitoring developments in the field of collegiate and university education
D) Determining and maintaining standards of teaching, examination and research in universities

Q2793262 According to the educational structure envisaged by the National System of Education, the right pattern for 5+3+2 system of education is

Score Obtained : 1.0

A)_primary+upper primary+high school
B) high school+upper primary +primary

C) high school +primary +upper primary
D) primary +high school + upper primary

Q2790477 In which city of Maharashtra was the first child friendly police station inaugurated in December 20207

Score Obtained : 0.0

A) Solapur
B) Nasik

C) Pune
D) Nagpur

(2791091 Which blood group is called as 'universal donor'?

Score Obtained : 1.0

A) AB
B) o
C) A
D) B

Q2792718 Ravi, who was facing East direction turns left and walks for 20 Kms. After that he turns left and walks for another 30 Kms. Again he turns left and walks for 20 Kms
and finally he turns right and walks for 10 Kms. How far is he from the starting point and which direction is he facing?

Score Obtained : 1.0

A) 60 Kms, East
B) 80 Kms, West
C) 50 Kms, East

D ) 40 Kms, West

02793264 Given below a question followed by 2 statements numbered (1) and (Il). Choose the statement/statements required to answer the
question by selecting a relevant option.

Question: What is the code for 'They' in code language?
Statements:
I'. 've la' means 'lt comes' and 'pa |la' means 'lt does' in the code language
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II. 'fa ba" means 'They come' and 'ca fa' means 'She come' in the code language

Score Obtained : 1

A) Statement (Il) ALONE is sufficient, but statement (1) alone is NOT sufficient

B) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient
C) Statements (1) and () TOGETHER are NOT sufficient

D) Statement (I) ALONE is sufficient, but statement (Il) alone is NOT sufficient

Q2791342 If 'Q’ is coded as 289 and 'X' is coded as 576, how will 'U' be coded?
Score Obtained :

A) 496
B) 361

C) as

D) 525

02791360 Given below are 2 statements followed by 2 conclusions. Choose the conclusion/conclusions that follows the given statements by selecting the
right option.

Statements:

I. All boxes are cubes

II. All cuboids are boxes

Conclusions:
I. All cuboids are cubes

Il. Some cubes are boxes

Score Obtained :

A) Only conclusion | follows

BI Both the conclusions | and Il follow
C) Only conclusion Il follows
D) Neither conclusion | nor conclusion Il follows

02791325 What is the speed of a cyclist who covers 3 km in 12 minutes?
Score Obtained : |

A) 13 kmph
B) 15kmph
C) 21 kmph
D) 23 kmph

Q2792768 For a beginning teacher in a new environment of schooling, an easy presumption of the nature of a class that could be of help in managing the class would be in
terms of the distribution of ability. It is best described as

Score Obtained :

A) Sinusoidal wave

B) Declining straight line

) Normal distribution of abilities
D) Inclining straight line

Q2791211 Which of the following is the full form of SCERT?

Score Obtained :

A) State Council of Educational Reach and Training
B) State Council of Education Research and Training



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

() State Council of Educational Research and Teaching

DI State Council of Educational Research and Training

Q2791177 Socratic model of teaching is a type of

Score Obtained : -0

A) modern model of teaching

B) historical model of teaching
C) behaviour model of teaching

D) psychological model of teaching

Q2793270 Lord Macaulay formulated an educational plan such that the educated Indians would be

Score Obtained : -0

A) Critical thinkers and independent
B) Clerks for the British company
C) Loyal to the British Empire

D) English educated and European in manners

Q2791212 The process of setting out in advance a pattern of action to bring about overall changes as viewed by national policies by the closest possible
articulation of means and ends is known as educational

Score Obtained :

A) system

Bl planning
C) management
D) development

02793269 A young father helping his toddler learn to walk could hold hands for while, leave it to be by the child’s side and hold the hand again
when the road is bumpy. This support provided to learn is called as

Score Obtained :

A) Practical learning
ﬁ)_Scaffolding

C) Practical instruction
D) Support system

02793271 The Kothari Commission of 1964-66 articulated one of educational aims as enhancing productivity and accelerating modernisation. The
reason could be

Score Obtained : -0

A) Protect our indigenous knowledge
B) A need for national reconstruction
C) To equip against hostile neighbours

D) Preserve the cultural traditions and customs

2792758 According to Malsow’s hierarchy of needs, which contributes to safety and security?

Score Obtained :

A)_Emotional stability of the teacher
B) Punishment for misbehaviour

C) Unpredictable teacher behaviour
D) Firm focus on outcomes
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2792813 The product of two negative numbers is positive. Though we all know it by familiarity, getting to understand this involves

Score Obtained : -0.25

A) Skills of mathematics
B) Abstract thinking

C) Laboratory experimentation
D) Observation of concrete objects

Q2791203 Which of the following methods of teaching, maximally gives learner a training in scientific method and develops critical thinking?

Score Obtained : 1.0

A) Project method

B) Demonstration method

Q' ) Heuristic method

D) Inducto deducive method

0279159 In the indirect sentence, fill in the blank(s) correctly:

I him that the boys were playing.
Score Obtained : 1.0

A) said

B) tod

C) say
D) tell

Q2791542 Fill in the blanks with the antonym of the word given in brackets:

She unnecessarily feels (isolated).

Score Obtained : 0.0

A) included
B) solitary
C) alone

D) excluded

Q2791524 Which of the following options is a synonym of 'Bountiful'?
Score Obtained : 0.0

A) Abundant
B) Little

C) Scarce

D) Deficient

02791492 Read the following passage and answer the questions based on the information provided in the passage.

The old lady was glad to be back at the block of flats where she lived. Her shopping had tired her, and her basket had grown heavier with every step of the
way home. In the lift her thoughts were on lunch and good rest, but when she got out at her own floor, the thoughts vanished with her sudden discovery that
her front door was open. She was thinking that she must reprimand her daily maid the next morning for such a monstrous piece of negligence, when she
remembered that she had gone shopping after her maid had left and she had turned both the keys in their locks. She walked slowly into the hall and at once
noticed that all the room doors were open yet following her regular practice, she had shut them before going out. Looking into the drawer room, she saw a
scene of confusion over by her writing desk. It was as clear as daylight then that burglars had forced an entry in her absence. Her first impulse was to go
around all the rooms looking for the thieves, but then she decided that at her age it might be more prudent to have someone with her, so she went to fetch
the porter from the basement. By this time her legs were beginning to tremble, so she sat down and accepted a cup of very strong tea, while he telephoned
the police. Then her composure regained, she was ready to set off with the porters assistance to search for any intruders who might be lurking in her flat.

02791494 The word 'reprimand’ means



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

A) Tell someone that they have done something wrong
B) Beat up someone

C) Drive someone away

D) Abuse someone

Q2791493 The old lady was glad to be back home because she

A) Had come home after a long time

BI Was tired carrying a heavy basket
C) Wanted to have lunch
D) Had some work to do

Q2791495 Before going out, her regular practise was to

A) Leave before the maid
B) Keep the doors open
C) Shut the doors

D) Leave the key in the lock

(2791497 The phrase -'it was as clear as daylight' means, it was

A) Very obvious
B) Very confusing
C) A bright day

D) Like the day light

02791496 She decided against going into the rooms as

A) She could not walk

B) she was old

C) It was night time
D) The rooms were locked

Q2791536 Choose the synonym of the given word.

FURY

A) Beating
B) Scolding
C) Advice

D) Wrath

Q2791553 Given below are 4 words. Identify the one that has been mis-spelt.

A) occasion
B) memento
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C) maintanance
D) colleague

(2791535 Choose the synonym of the given word.

ADMIT

ALConfess
B) Annoy

C) Abstain
D) Follow

Q2791605 Identify the indirect speech of the given sentence:

"What a terrible accident it is!" she exclaimed.

A) Exclaiming, she said what a terrible accident it is.

BI She exclaimed that it was a terrible accident.
C) She said how terrible the accident is.
D) A terrible accident it is, she said.

2791594 Change the complex sentence into a simple sentence. They saw a girl. Who was studying at the library.

A) They saw the girl who was studying at the library.

BI They saw a girl studying at the library.
C) The girl saw them study at the library.
D) They saw the girl read at the library.

Q2791599 In the indirect sentence, fill in the blank(s) correctly:

The teacher he would teach us a lesson.

A) would say
B) should told

C) said that
D) would told

Q2791554 Given below are 4 words. Identify the one that has been mis-spelt.

A) jewellery
B) eighth

C) liason
D) lynching

QRS 99 QIRIg QRN ?

Q2791454

A) geq @al afe and Rl
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B) Gal afeo a9a oae fcm
C) 9| @y fFde cefca

p) ARQ QIR aQe ealedicn

Q2793280 AGEFS G AUIF 690 963 6 FORYS 99 96e ¢ @a9 o,

QeUITIR, 2EIB AIGA, CUIHRIR F1RDE, 28R AES IR T8RS, BIRIHIA LHILIR CIRITR 1 255 694QIq BING AIF 98l £9 | 1 aAg Qifle 94 Zier
dosasn 609aIqe | IS ARY 692 PRATINE TETIEH FIRAITE 692 JIRER FEI9R QW 69R JI8 98 @98 |

Q2793282 ' Q1w @9l - @9 999 99Q AAIQ G40 /4 |

Score Obtained

A) Q9
B) Q099 ©§ 998

C) odums

D) Zeugiale

Q2793281 GERYS 9K FRIg 6RE6 6AISAIR 9T G4l |
Score Obtained

A) @%a1
B) @@l

fl ol

D) Q@

Q93283 ' Q18IS @ 9] YOUL @6 629 ?

Score Obtained :

A) dig+ae
B) Qg+ ¢
C) Qan+e

D) gaeia

Q2793285 @46 © F0@ Haldl @9 |

Score Obtained :

A) getgl
B) Qge
C) ogd

D) s

Qs BYAYS Y 696G Qe g QN FIF 7

Score Obtained :

A) 9Q@1Q

B) sdedy

C) gliecla
D) @&

A9GY ‘Q'Q 696 AIRINEEH CANAIRAIN ?
Q2791408

Score Obtained
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‘Ged’ QIRIQ QERIAN ?
Q2791455 QQ

Score Obtained : 1.0

A) 60 G4l TARR W

B) a9 Ul 02l QIR QEKIRgica

) Q8 8 9or 29QKa §al gFe ceea

p) 6@ Gal raes ear

oolus RIR’ QRIQ QRIAN?

Score Obtained : 1.0

A) Qres @4 G rew Q4Q Q'ealtY.

p) 6999 Qres Q4 fea

Q) Qree 96 QF 9f 94Q TN

D) 40 G 99 Q4Q 9.

Q2791444 62 62 94 ANIg ACIEe gad ?

Score Obtained : 1.0
e,8,9,d
A) g 2

g ©6,0

Q) ¢,0,9,@

D &HSS

Q2792169 Generally, what is the main objective of the adjournment motion in Parliament of India?

Score Obtained : 0.0

A) Make a cut in the budget proposals
B) Topple the Government

C) Collect personal information from the Ministers

D) Discuss definite matter of urgent public importance

Q2792159 What was the purpose behind the inclusion of DPSP in the Constitution of India?

Score Obtained : 1.0

A) Political Democracy
B) Social Democracy
C) Gandhian Democracy

D) Social and Economic Democracy

Q2792179 Which Article of the Indian Constitution, mentions that 'The Supreme Court shall be a court of record and shall have all the powers of such a court including the
power to punish for contempt of itself'?
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A) Article 129
B) Article 229
C) Article 329
D) Article 99

(2792086 The famous play 'Neel Darpan' is a story about the plight of indigo cultivators that was written in 1880 by

A) Mahatma Gandhi

B) Bankim Chandra Chatterjee
C) Dinabandhu Mitra

D) Sisir Ghosh

2792031 During which of the following movements "Atmashakti” or self reliance was followed for the first time?

A) Swadeshi Movement

B) Civil Disobedience Movement
C) Non-Cooperation Movement
D) Champaran Satyagraha

2792040 Which German president offered Adolf Hitler the Chancellorship of Germany in 19337

A) Hans Luther
B) Friedrich Ebert

C) Hindenburg
D) Walter Simons

Q2792022 Which of the following pairs is correctly matched?

A) Aurcbindo Ghosh - Moderate

B) Hardayal - Gadar Party
C) Lala Lajpat Rai - Home Rule League
D) Gopal Krishan Gokhale - Extremist

Q2792186 The High Court of which state in India has the largest number of benches?

A) Bombay High Court

B) Guwahati High Court
C) Calcutta High Court
D) Rajasthan High Court

(2792107 Who among the following was responsible for the foundation of Brahmo Samaj?

A) Ishwar Chandra Vidyasagar
B) Rabindranath Tagore
Q[ Raja Ram Mohan Roy
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D) Bankim Chandra Chatterjee

2792078 In which of the following regions, Birsa Munda a great tribal leader operated against the Britishers?

Score Obtait

A) Chota Nagpur

B) Deccan
C) Maharashtra
D) Delhi

Q2792015 This person was restored to power during the Revolt of 1857 by the mutinous sepoys. Name the King/Queen?

Score Obtait

A) Nana Sahib
B) Rani Lakshmi Bai

! ) Bahadur Shah Zafar
D) Tantia Tope

Q2792139 Among the following options which amendment of the Constitution deleted right to property from the list of fundamental rights?

Score Obtait

A) 45th Amendment
ﬁ)_44th Amendment
C) 42nd Amendment
D) 43rd Amendment

2792129 Pandit Madan Mohan Malaviya and Pandit Din Dayal Sharma, founded which of the following socio-religious organizations in the year 1902 in Varanasi?

Score Obtail

A) Deva Samaj
B) Seva Samiti

C ) Bharat Dharma Mahamandala
D) Deccan Education Society

Q2792149 Right to Education Act (2002) was launched to help which group of society. CHOOSE from the following options?

Score Obtail

ALChiIdren of the age 6 to14 years

B) Female students studying senior secondary school
() Those who are interested in technical education
D) College going teenagers

Q2792068 Who among the following framed and executed the policy of forming subsidiary alliance, which played a major role in the expansion of British rule in India?

Score Obtait

A ) Lord Wellesley

B) Lord Canning
C) Lord Irwin
D) Lord Ripon

Q2792061 Which of the following statements is INCORRECT regarding the French Constitution of 17917

Score Obtait
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A) The National Assembly was to be indirectly elected by active citizens

B) It declared France as a constitutional monarchy and the king's powers were curtailed
C) The National Assembly was to be elected by middle class men and women
D) To qualify to be a member of the Assembly, one had to be in the category of the highest tax payers

Q2792049 Which one of the following statements about the Great Depression, which started in 1929, is TRUE?

Score Obtaine

A)_USA was the worst affected country, even more severely affected than Germany
B) In ltaly, nearly 70,000 people became unemployed during the Depression

C) England had to abandon the gold standard due to the Depression

D) Germany managed to continue paying the war reparation during the Depression

(2792082 Read the following statements and choose the CORRECT option about the Governor General, Lord Lytton.

(i) Lord Lytton passed the Arms Act 1878 that prohibited Indians from carrying weapons of any kind without licenses.

(i) He conducted the grand Delhi Durbar in 1877 spending huge amount of money at a time when people were dying of hunger.

Score Obtaine

A) (i) is FALSE and (ii) is FALSE
B) (i)is TRUE and (ji) is TRUE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

(2792119 Read the following statements and choose the CORRECT option about the social reformer Raja Ram Mohan Roy.

(i) Raja Ram Mohan Roy, believed education to an implement for social reform and in 1817, in collaboration with David Hare, he set up the Hindu College at Calcutta

(ii) He played a prominent role in the modernization of India and is sometimes called as the Father of Modern India.

Score Obtaine

A) (i)is TRUE and (ii) is TRUE
B) (i) is FALSE and (ii) is TRUE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (i) is FALSE

2792126 Lectures from Colombo to Almora’ is a book written by which of the following social reformers of India?

Score Obtaing

A) Pandita Ramabai
B) Veer Savarkar

C) Annie Besant

D) Swami Vivekananda

Q2792379 What is the time of place B when it is 10 a.m.. Friday in place A?
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Score Obtained

A) 10 a.m., Thursday
B) 12 a.m., Friday

C) 10 p.m., Friday

D) 10 p.m., Thursday

Q2792535 Wind energy is a clean and renewable energy resource being used for power generation. Which of the following Indian states are the leading harvesters of this
energy?

Score Obtained :

A) Rajasthan, Maharashtra, Madhya Pradesh , Odisha
B) Gujarat, Maharashtra, Rajasthan, Odisha
QLTamiI Nadu, Maharashtra, Gujarat, Rajasthan

D) Maharashtra, Tamil Nadu, Odisha, West Bengal

2792595 The Red Data Books published by the International Union for Conservation of Nature enumerate

Score Obtained

A) Biodiversity parks and wildlife sanctuaries in different countries
B) Centres of origin of all economically important plants
C) Centres of origin of cultivated plants and domesticated animals

D. Threatened species of plants and animals

Q2792578 Which of the following is biodiversity hotspot in India?

Score Obtained

A) Eastern Ghats
B) Deccan plateau

C ) Western Ghats

D) Andaman and Nicobar islands

(2792562 Under which sector does the teaching come?

Score Obtained :

A) Quaternary Sector
B) Tertiary Sector
C) Secondary Sector
D) Primary Sector

(2792586 What is the greatest threat to organisms and biodiversity?

Score Obtained :
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A) Species extinction all over the world

B) Process of habitat loss

C) Biodiversity hotspot

D) Reduced carrying capacity of the habitat

02792542 Coal - Gold - Iron - Copper are connected with

A) Kolar- Khetri- Jharia - Kudremukh
B) Kolar - Kudremukh - Khetri - Jharia
C) Kudremukh - Kolar - Khetri - Jharia

DI Jharia - Kolar - Kudremukh - Khetri

Q2792525 Which among the following countries has the lowest natural gas reserves?

A) Qatar

B) Spain

C) Saudi Arabia
D) Iran

2792551 Which of the following is the key challenge faced by Startups in India?

A) Finance

B) Human resource
C) Technology

D) Markets

Q2791616 What is NPA in Banking terminology?

A) Non-Performing Asset

B) Non- Performing Account
C) Non- Profit Adjustment

D) Non-Performing Assesment

2792407 Why do the most rivers flowing west from the Western Ghats don't form deltas?

A) Low velocity
B) Lack of eroded material
C) Lack of vegetation

D) The steep gradient

Q2792397 Which state has the longest coastline in India?

A) Odisha

B) Maharashtra
C) Gujarat
D) Tamil Nadu
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Q2791619 Choose the CORRECT option for the following terms.

Statement I: Reverse Repo Rate is the rate at which RBI borrows money from banks
Statement II: Repo Rate is the rate at which RBI lends money to the banks

A) Statement |: FALSE, Statement |I: TRUE
B) Statement I: TRUE, Statement Il FALSE
C) Statement |: FALSE, Statement |I: FALSE

D) statement I: TRUE, Statement IIl: TRUE

Q2792389 Observe the below map carefully and determine what time it is in Sydney when it is 12 noon in Greenwich.

Equator

o
8.00 1200 | T T 1T [weho] 24100
GuT GMT GMT aMT

0 9 8 T 45 - -4 -3 -2 1 (1] +f -2 +3 4 -5 8 +7 8 0 +10 +11 | +12

A) 12 midnight
B) 10 a.m.

C) 10 p.m.
D) 8 p.m.

Q2792570 Assertion (A): Rhine-Ruhr valley became the most important industrial region of Europe because of the presence of large coal-fields.

Reason (R): The industries such as locomotives, machinery, cutlery and armaments are concentrated in the Rhine-Ruhr valley.

A) Both (A) and (R) are true and (R) is not the correct explanation of (A)
B) Both (A) and (R) are true and (R) is the correct explanation of (A)

C) (A)is false but (R) is true
D) (A) is true but (R) is false



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

